
ESTRUCTURA : ACCIONAMIENTO DEL ACELERADOR Y COMANDO DE REVERSA
 

ACCIONAMIENTO DEL ACELERADOR Y COMANDO DE REVERSA

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1

2 MANILLAR 11-80070
3 CUBIERTA

DE GOMA
DE CABLE
DE EMBRA

GUE
4 CABLE DE

5 CABLE DE
FRENO

                        1 / 4

https://cprrepuestos.com.ar/images/stories/virtuemart/product/accionamiento del acelerador y comando de reversa.jpg


ESTRUCTURA : ACCIONAMIENTO DEL ACELERADOR Y COMANDO DE REVERSA
 

Ref. Título Código
6

7 TAPA DE A

8 PALANCA
DE ACELE

RADOR

9 TORNILLO
M4 X 12

11-80505

10 TORNILLO
DE TOPE
M5 X 25

11-80500

11 TUERCA
M5

11-80410

12 TUERCA
M5

11-80410

13 11-80625

14 SOPORTE

15 JUNTA SE
LLADORA

16 JUNTA SE
LLADORA

17 11-80600

18

19 TORNILLO
M6 X 12

20 11-80600

21 TABLERO
DE INSTR
UMENTOS

22 SOPORTE
DE

TABLERO

23 CABLE AC

24 CABLE DE

                        2 / 4



ESTRUCTURA : ACCIONAMIENTO DEL ACELERADOR Y COMANDO DE REVERSA
 

Ref. Título Código
CEBADOR

25

26 PLACA DE

27 RESORTE
DE EJE

28 RETEN DE
RESORTE

29 TUERCA
M6

30 TUERCA
M6 CON
ROSCA

HACIA LA

11-80420

31 VARILLA C

32 TORNILLO
M4 X 8

33 PALANCA
DE

REVERSA

34 CUBIERTA
DE

COMANDO
DE

REVERSA
35 ESPINA

36 TAPA DE
GOMA DE
PALANCA

DE
REVERSA

37 11-80600

38 TORNILLO
M8 X 30

39 TORNILLO 11-80230

                        3 / 4



ESTRUCTURA : ACCIONAMIENTO DEL ACELERADOR Y COMANDO DE REVERSA
 

Ref. Título Código
M6 X 35

40 11-80600

41 CABLE DE
LANTERO
DE FRENO

42 CUBIERTA
DEL

TABLERO

43 TORNILLO
M5 X 20

44 TORNILLO
M3.2 X 25

45 TORNILLO
M3.2 X 8

11-80535

46 11-800-1

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        4 / 4

http://www.tcpdf.org

